
1 
 

  
ΥΠΟΥΡΓΕΙΟ ΠΑΙΔΕΙΑΣ ΚΑΙ ΠΟΛΙΤΙΣΜΟΥ 

ΔΙΕΥΘΥΝΣΗ ΜΕΣΗΣ ΕΚΠΑΙΔΕΥΣΗΣ 
ΚΡΑΤΙΚΑ ΙΝΣΤΙΤΟΥΤΑ ΕΠΙΜΟΡΦΩΣΗΣ 

 
 

ΤΕΛΙΚΕΣ ΕΝΙΑΙΕΣ ΓΡΑΠΤΕΣ ΕΞΕΤΑΣΕΙΣ 
ΣΧΟΛΙΚΗ ΧΡΟΝΙΑ 2011-2012 

 

Μάθημα: Αγγλικά     Επίπεδο: 6    Διάρκεια: 2.30 ώρες      Ημερομηνία: 14 Μαΐου 2012           
 
 
PART II: READING COMPREHENSION                                                      (30 MARKS) 
 
A. Choose the best answer according to the text.                              (5x3=15 marks) 
 
1. D. considered others as our enemies. 

2. A. different political ideas. 

3. B. life would be very boring. 

4. B. there would never be a different style. 

5. C. someone tries to change the situation. 

 
B. Answer the following questions according to the text.                    (3x3=9 marks)    
 
1. We wouldn’t have anything to talk with our friends and we wouldn’t know how to  
    spend our time. 

2.  We would all wear the same clothes, eat the same food, buy the same things so     
     there wouldn’t be as much choice as there is now and there wouldn’t be so many 
     different items on the market. 
 
3. People (a) would have issues to talk and argue about  
                 (b) would be able to read the philosophers 
                 (c) would exercise their critical thinking  (any three) 
                 (d) would spend their time constructively                                             
                 (e) would be more innovating in many areas 
                 (f)  would have more choice 
    Therefore life would be more interesting (not boring) 
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C. Find words in the text which have the same or similar meaning as the   
     following:                                                                                              (6x1=6 marks) 
 
1. ancient = primitive 
2. discuss = debate 
3. unrelated = irrelevant 
4. talk = converse 
5. improvement = innovation 
6. consequently = therefore 
 
PART III: USE OF ENGLISH                                                                         (30 MARKS) 
 
A. Complete the second sentence so that it has a similar meaning to the first  
     sentence, using the word given.                                                      (5x2=10 marks)  
 
1. … am used / accustomed to staying … / … don’t mind staying … 
2. … have been many changes … 
3. … were better, I would …  were good/ not bad enough, I would …  
4….  would rather you did not … 
5. … in spite of the fact … 
 
B. Use the words given in brackets to form words that fit the blanks. 
                                                                                                                (10x1=10 marks) 
1. impressive 
2. owners 
3. pleased 
4. traditional 
5. luxury 
6. facilities 
7. Unfortunately 
8. service 
9. request 

10. conclusion 
 
C. Complete the gaps with ONE suitable word.                                 (10x1=10 marks) 
1. a / very                                                                          (6) at 
2. not                                                                                 (7) on 
3. from                                                                               (8) had 
4. in / definitely /obviously / surely / surely / certainly       (9) of 
5. was                                                                              (10) them 


